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BEEAEE (a)
HHRE

BET(FERC) 0.5 38,400 19,200

p 0.5 31,600 15,800

[ 1 38,400 38,400

WMEEIER 0.3 38,400 11,520

BUSETE D VERK 0.5 38,400 19,200

INET (a) 104,120

#HRE (a)x0.5 (b) 0.5 104,120 52,060

Biffi#Z&E (a+b) x0. 1 0.1 156,180 15,618

B ESE 171,798

EBRE 20,000

& &t 191,798

= 191,000

HER(10%) 19,100

# H) 210,100
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BEEAEE (a)
HHERE

BET(KERC) 0.5 38,400 19,200

p 0.5 31,600 15,800

it = &2 BT 1 38,400 38,400

WESERL 0.6 38,400 23,040

BUSET B D VERK 0.5 38,400 19,200

INET (a) 115,640

HBEE (a)x0.5 (b) 0.5 115,640 57,820

Biffi#E&E (a+b) x0. 1 0.1 173,460 17,346

R EEE 190,806

EBRE 20,000

& &t 210,806

= 210,000

HER(10%) 21,000

# HJ 231,000

XN RUTENVETTEHLTEYET,




KEFEE

=2

T (—RZ 2 M) XM R IR

R (ZH)

(—#) EEERETEHFIES
O [EKXREFE:200mM~400mFEE])

&SF164E381H

(REHYDIHSE) (84 F)
k=4 15 A$ B & %8

BEEAEE (a)
HHRE

BET(FERC) 0.75 38,400 28,800

p 0.75 31,600 23,700

[ 1.2 38,400 46,080

WMEEIER 04 38,400 15,360

BUSETE D VERK 0.75 38,400 28,800

INET (a) 142,740

H#BEE (a)x0.5 (b) 0.5 142,740 71,370

Biffi#Z&E (a+b) x0. 1 0.1 214110 21,411

B ESE 235,521

EBRE 20,000

& &t 255,521

= 255,000

HER(10%) 25,500
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BET(KERC) 0.75 38,400 28,800

p 0.75 31,600 23,700

it = &2 BT 1.2 38,400 46,080

WESERL 0.7 38,400 26,880

BUSET B D VERK 0.75 38,400 28,800

INET (a) 154,260

HBEE (a)x0.5 (b) 0.5 154,260 77,130

Biffi#E&E (a+b) x0. 1 0.1 231,390 23,139
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EBRE 20,000

& Bt 274,529

= 274,000

HER(10%) 27,400
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BT (HERC) 1 38,400 38,400
KT 1 31,600 31,600
it 2 W 1.4 38,400 53,760
EESER 05 38,400 19,200
BIEHBE D ERK 1 38,400 38,400
INEE (a) 181,360
HBE (a)x0.5 (b) 0.5 181,360 90,680
B (a+b) x0. 1 0.1 272,040 27,204
EEZ T 299,244
BERE 20,000
& &t 319,244
= 319,000
SHEBI(10%) 31,900
“ Hi 350,900
(R@EZEZELDIEE) (B&{fi: M)
= 8 A B ® &
EEAEE (2)
WA
BET(XERC) 1 38,400 38,400
KT 1 31,600 31,600
[BESEED 1.4 38,400 53,760
HESERX 0.8 38,400 30,720
BIEHBE D ERK 1 38,400 38,400
INEE (a) 192,880
#BE (a) x0.5 (b) 0.5 192,880 96,440
Biffig% (a+ b) x0. 1 0.1 289,320 28,932
EEZ G 318,252
BERE 20,000
& &t 338,252
= 338,000
SHEBI(10%) 33,800
“ Hi 371,800
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